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BE=A=1t—HILHFE
—ETTF EE-F CIEE-F ITT=F ZTTNF
BEBT BHEBT BHEBT BEBT BEBTT
-0 5,985.2 5,556.1 3,757.2 2,311.3 3,590.9
KR (B18) 577.6 568.4 120.5 (69.3) 176.1
B E A (1.0) (1.1) (3.1) (5.9) (10.3)
FE(hEE /H R EE 2B 35.2 30.8 5.0 30.6 34.2
BB ADER (B518) 611.8 598.1 122.4 (44.6) 200.0
FIE (102.1) (80.7) (20.5) 0.1 49.4)
BRAOEIRRERADEF (8518) 509.7 517.4 101.9 (44.5) 150.6
DERRRER (6.6) 9.1) 2.4 0.2 (2.9)
IR ERFE(L R F) (B518) 503.1 508.3 104.3 (44.3) 147.7
BEHAE
R=RA=+—8H
—TTFF —BT-F —TEF-F =FT=F -FTTEF
BEBT BHEBT BEBT BEBT BEBT
BEMAE 4,288.6 5,163.5 2,825.9 3,244.1 3,738.3
BEA% (2,710.0) (3,553.4) (1,467.9) (2,008.0) (2,322.5)
DY RERS (23.4) (28.0) (27.4) (26.1) (28.6)
BRRES 1,555.2 1,582.1 1,330.6 1,210.0 1,387.2
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